
Z.

2\3

51

3738

39

34

35

33

36

1

4

5

6

7\8
9

10

11\12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28 29

30

31

32

37

4046

45 45

44

43 43
4242

42

66

48

49

50

52

54

54

55
56

56
54

59

60

61

68

8081
84

86

87
85

82

54
54

54

88

47

2

62

63
63

62

6262 63
63

63

67

78

79

75

76

71

72
7374

63

89

64

90

Jøtul AS
Fredrikstad, Norway

63
56

62

54

74

91

93

92

94 95

C 21\31 C22\32 C 23

C33

JØTUL

 Date:
11.2.03

Deleliste / Partlist
Jøtul Cassette 21-22-23-31-32-33

Kontakt din Jøtul forhandler ved
spørsmål/kjøp av reservedeler.
Please contact your local dealer 
concerning spare parts. 

Drawingno.
1-1075-P04

34



Jøtul Cassette 21-22-23-31-32-33
Jøtul C 21 BBE 340848, Jøtul C 22 BBE 340850 Jøtul C 22 BP 340930

Jøtul C 31 BBE 340859, Jøtul C 31 BBE 340860, Jøtul C 33 BBE 341186

Pos. no. Consist of pos. Benevnelse Description Dim./Spec.

1 Bunnplate, f/ C 21-22 Bottom plate, f/ C 21-22 Cast iron, min 4mm thick

1 Bunnplate, f/ C31-32 Bottom plate, f/ C31-32 Cast iron, min 4mm thick

2 Sideplate, høyre, f/ C 21-22 Side plate right, f/ C 21-22 Cast iron, min 4mm thick

2 Sideplate H, f/ C31-32 Side plate right, f/ C31-32 Cast iron, min 4mm thick

3 Sideplate, venstre, f/ C 21-22 Side plate left, f/ C 21-22 Cast iron, min 4mm thick

3 Sideplate V, f/ C31-32 Side plate left, f/ C31-32 Cast iron, min 4mm thick

4 Bakplate, f/ C 21-22 Rear plate, f/ C 21-22 Cast iron, min 4mm thick

4 Bakplate,f/ C31-32 Rear plate, f/ C31-32 Cast iron, min 4mm thick

5 Topplate,f/ C 21-22 Top, f/ C 21-22 Cast iron, min 4mm thick

5 Topplate, f/ C31-32 Top, f/ C31-32 Cast iron, min 4mm thick

6 Askelist/ Kubbestopper, f/ C 21-22 Ash/log retainer, f/ C 21-22 Cast iron, min 4mm thick

6 Askelist/ Kubbestopper,f/ C31-32 Ash/log retainer, f/ C31-32 Cast iron, min 4mm thick

7 Brennplate, venstre, f/ C 21-22 Burnplate left, f/ C 21-22 Cast iron, min 4mm thick

7 Brennplate V, f/C 31 Burnplate left,f/C 31 Cast iron, min 4mm thick

8 Brennplate, høyre, f/ C 21-22 Burnplate right, f/ C 21-22 Cast iron, min 4mm thick

8 Brennplate H, f/C 31 Burnplate right, f/C 31 Cast iron, min 4mm thick

9 Brennplate, bak, f/ C 21-22 Burnplate rear, f/ C 21-22 Cast iron, min 4mm thick

9 Brennplate, bak, f/C 31 Burnplate rear, f/C 31 Cast iron, min 4mm thick

10 Hvelv, f/ C 21-22 Baffle plate, f/ C 21-22 Cast iron, min 4mm thick

10 Hvelv, f/C 31 Baffle plate, f/C 31 Cast iron, min 4mm thick

11 Klammer, høyre Top bracket right Cast iron, min 4mm thick

12 Klammer, venstre Top bracket left Cast iron, min 4mm thick

13 13,21,a,21b,21c Hengselbrakett, komplett, f/ C 21-22 Hinge bracket, compl., f/ C 21-22 Cast iron, min 4mm thick

13 13,21a,58 Hengselbrakett, komplett,f/ C31-32 Hinge bracket, compl.,f/ C31-32 Cast iron, min 4mm thick

14 Spylebrem, f/ C 21-22,23 Air deflector, f/ C 21-22,23 Cast iron, min 4mm thick

14 Spylebrem, f/ C31-32 Air deflector, f/ C31-32 Cast iron, min 4mm thick

15 Askebunn , f/ C 21-22,23,31,32 Ash housing, f/ C 21-22,23,31,32 Cast iron, min 4mm thick

16 Askerist, f/ C 21-22,23,31,32 Grate, f/ C 21-22,23,31,32 Cast iron, min 4mm thick

Spareparts_Jøtul_C_21_22_23_31_32_33_P11_150208 15.02.2008 Side 1 av 5



Jøtul Cassette 21-22-23-31-32-33
Jøtul C 21 BBE 340848, Jøtul C 22 BBE 340850 Jøtul C 22 BP 340930

Jøtul C 31 BBE 340859, Jøtul C 31 BBE 340860, Jøtul C 33 BBE 341186

Pos. no. Consist of pos. Benevnelse Description Dim./Spec.

17 Konveksjonskammer, bunn, f/ C 21-22 Convection chamber base, f/ C 21-22 steel,min 1,5mm

17 Konveksjons kammer, bunn, f/ C31-32 Convection chamber base, f/ C31-32 steel,min 1,5mm

18 Konveksjonskammer, side/bak, f/ C 21-22 Convection chamber walls, f/ C 21-22 steel,min 1,0mm

18 Konveksjons kammer, side/bak, f/ C31-32 Convection chamber walls, f/ C31-32 steel,min 1,0mm

19 Konveksjonskammer, topp, f/ C 21-22 Convection chamber top, f/ C 21-22 steel,min 1,0mm

19 Konveksjons kammer, topp, f/ C31-32 Convection chamber top, f/ C31-32 steel,min 1,0mm

20 Reguleringstang Air control bar

21 Hengsel m/tapp Hinge w/pin

21 Hengsel u/tapp Hinge w/o pin

21 Skive for hengsel Washer for hinge

22 Askeskuffe Ash shovel Steel, min 0,7mm

23 Dør BBE, f/ C 21-22 Door BBE, f/ C 21-22

23 Dør BP, f/C 22 Door BP, f/C 22

23 Dør BBE, f/ C31-32 Door BBE, f/ C31-32

23 23,24,26,27,28,29 Dør komplett , BP u/glass, f/C 22 Door assembled, BP  w/o glass, f/C 22

23 23,24,26,27,28,29 Dør komplett, BBE u/glass, f/ C 21-22 Door assembled, BBE  w/o glass, f/ C 21-22

23 Dør komplett, BBE u/glass, f/ C31-32 Door assembled, BBE  w/o glass, f/ C31-32

23 Dør komplett, BBE u/glass, f/ C 23 Door assembled, BBE  w/o glass, f/ C 23

24 Skrue panhode (21-22) Screw panhead (21-22) M6x16

24 Skrue panhode  (31-32) Screw panhead (31-32) M6x12

25 Glass, f/ C 21-22 Glass, f/ C 21-22 4mm ceramic glass

25 Glass, f/ C31-32 Glass, f/ C31-32 4mm ceramic glass

25 Glass, f/ C 23 Glass, f/ C 23 4mm ceramic glass

26 Dørslå, venstre Latch left

27 Glassklips Glass clips Stainless steel

28 Pakning for glass, f/ C 21-22 Glass gasket, f/ C 21-22 LD 250 M/L Ø6,4X1640

28 Pakning for glass, f/ C31-32 Glass gasket, f/ C31-32 LD 187-1 M/L Ø4,8X1800

28 Pakning for glass, f/ C31-32 Glass gasket, f/ C31-32 LD 250 M\L ø6,4x1800

Spareparts_Jøtul_C_21_22_23_31_32_33_P11_150208 15.02.2008 Side 2 av 5



Jøtul Cassette 21-22-23-31-32-33
Jøtul C 21 BBE 340848, Jøtul C 22 BBE 340850 Jøtul C 22 BP 340930

Jøtul C 31 BBE 340859, Jøtul C 31 BBE 340860, Jøtul C 33 BBE 341186

Pos. no. Consist of pos. Benevnelse Description Dim./Spec.

29 Pakning for dør, f/ C 21-22,23 Door gasket, f/ C 21-22,23 LD 375-2 Ø9,5X1800

29 Pakning, f/ C31-32 Door gasket, f/ C31-32 LD 375-2 Ø9,5X2000

30 Reguleringsventil Air vent

30 30,31,32 Luftventil komplett, f/ C 21-22,23 Air vent, complete, f/ C 21-22,23

30 30,31,32 Luftventil, komplett, f/ C31-32 Air vent, complete, f/ C31-32

31 Spennstift for luftventil, f/ C 21-22,23,31,32 Spring pin, f/ C 21-22,23,31,32 4x18

32 Reguleringsaksel Reg. axle

33 Vrider - Askedør Ash doorhandle Cast iron, min 4mm thick

34 Askedør Ash door

34 33,34,35,36,37,38,39 Askedør, komplett, f/ C 21-22,23,31,32 Ash door, complete, f/ C 21-22,23,31,32 Cast iron, min 4mm thick

35 Fjærskive for askedør Spring Washer

36 Gj.stift m/tappende Tip screw

37 Nagle Hinge pin Ø6x33 black crom.

38 Lås-slå f/askedør Ash door latch

39 Pakning for askedør Gasket for ash door LD 250-2 Ø6,4X1000

40 Front kompl. C 31 BBE Front grill compl. C 31 BBE

40 42,43,60 Front,kompl. BP-u/askel./vifte, f/C 22 Front grill comp. BP-w/o ash sol./fan, f/C 22

40 Front kompl. BBE, u/vifte, f/C 22 Front grill compl. BBE-w/o fan, f/C 22

41 Mutter Nut M8 DIN 439

42 Skrue Screw M6x12

43 Fjær Spring Stainless steel

44 Messinghåndtak, f/ C31-32 Brass handle, f/ C31-32 Brass

45 Messingknott, f/ C31-32 Brass knob, f/ C31-32 Brass

46 Logo-Emblem, f/ C31-32 Logo, f/ C31-32

47 Vifter m/festeskinne, f/ C31-32 Fan assy., f/ C31-32

47 Vifter m/festeskinne, f/ C 21-22,23 Fan assy., f/ C 21-22,23

48 Adapter for røykrør, f/ C 21-22,23 Flue adapter, f/ C 21-22,23

48 Adapter for røykrør, f/ C 21/31 Adapter for flue outlet, f/ C 21/31 Ø 150/160 mm

Spareparts_Jøtul_C_21_22_23_31_32_33_P11_150208 15.02.2008 Side 3 av 5

Dean2
Typewritten text
50027203



Jøtul Cassette 21-22-23-31-32-33
Jøtul C 21 BBE 340848, Jøtul C 22 BBE 340850 Jøtul C 22 BP 340930

Jøtul C 31 BBE 340859, Jøtul C 31 BBE 340860, Jøtul C 33 BBE 341186

Pos. no. Consist of pos. Benevnelse Description Dim./Spec.

48 Adapter for røykrør, f/ C 21/31 Adapter for flue outlet, f/ C 21/31 Ø 175/180 mm

49 Skrue plate - sesk m\fl Screw tap hex capfl 4.2x13

50 Stuss f/konveksjonskammer Air distributor connector

51 Håndtak, løst, forniklet Handle, loose, nickel plated 

52 Skrue, unbr. syl.h. Socket screw M8x30

53 Skrue seksk m krave Hexagon screw w collarhead M8x20

54 Skrue seksk. Hexagon screw M8x20

55 Skrue seksk. Hexagon screw M8x25

56 Skrue seksk. Hexagon screw M8x40

58 Skrue linse poz. Screw oval head poz. M6x12

59 Hylse Sleeve

60 42,43,60 Front, komp. BBE, f/ C 21 Front grill complete BBE, f/ C 21

61 Gulltrim Decoration strip

62 Mutter sekskant Nut M8

63 Skive Washer 8.4x17x1.5

64 Skrue 6k m/krave Hexagon screw M6x20

66 Vifte Fan

67 Termostat Thermostat

68 Bryter f/termostat Switch for fan

71 Front, øvre del, BBE, f/C 31 Front, top, f/C 31 Cast iron, min 4mm thick

72 Front, nedre del, BBE, f/C 31 Front, bottom, f/C 31 Cast iron, min 4mm thick

73 Front, høyre side, f/ C31-32 Front, right side, f/ C31-32 Cast iron, min 4mm thick

74 Front, venstre side, f/ C31-32 Front, left side, f/ C31-32 Cast iron, min 4mm thick

75 Front , topp, f/ C32 Front, top, f/ C32 Cast iron, min 4mm thick

76 Front, bunn, f/ C32 Front, bottom, f/ C32 Cast iron, min 4mm thick

77 Skrue panh. Screw panhead M6x8

78 Reguleringsstang øvre , f/ C 23 Air control bar upper , f/ C 23

79 Reguleringsstang nedre , f/ C 23 Lower control bar , f/ C 23

Spareparts_Jøtul_C_21_22_23_31_32_33_P11_150208 15.02.2008 Side 4 av 5



Jøtul Cassette 21-22-23-31-32-33
Jøtul C 21 BBE 340848, Jøtul C 22 BBE 340850 Jøtul C 22 BP 340930

Jøtul C 31 BBE 340859, Jøtul C 31 BBE 340860, Jøtul C 33 BBE 341186

Pos. no. Consist of pos. Benevnelse Description Dim./Spec.

80 Glass , f/ C 23 Glass, f/ C 23 4mm ceramic glass

81 Dør,BBE, f/ C 23 Door, BBE, f/ C 23

82 Spoiler, f/ C 23 Spoiler, f/ C 23 Cast iron, min 4mm thick

84 Pakning f/glass , f/ C 23 Glass gasket , f/ C 23 TNS 187-1 M/L Ø4,8X1680

85 Pakning f/glasslist, f/ C 23 Glass list gasket, f/ C 23 LD 187-1 M/L Ø4,8X586

86 Skrue panh. Screw panhead M6x10

86 Front,BBE, f/ C 23 Front grill, BBE, f/ C 23 Cast iron, min 4mm thick

87 Glasslist, f/ C 23 Glasslist, f/ C 23 Cast iron, min 4mm thick

88 Bunndeksel, f/21-22 Bottom cover, f/21-22 Cast iron, min 4mm thick

89 Askeskuff Ash pan Steel,min 0,7mm

90 Dubb, f/ C31-32 Pin, f/ C31-32

91 Front øvre del C 33 BBE Front top C 33 BBE Cast iron, min 4mm thick

92 Front nedre del C 33 BBE Front bottom C 33 BBE Cast iron, min 4mm thick

93 Front høyre del C 33 BBE Front right C 33 BBE Cast iron, min 4mm thick

94 Front venstre del C 33 BBE Front left C 33 BBE Cast iron, min 4mm thick

95 Front kompl C 33 BBE Front compl C 33 BBE Cast iron, min 4mm thick
Skrue krave seksk., f/C 22 Hexagon screw , f/C 22 M8x12
Skive Washer 8,4x20x1,5

Skive Washer 25x10,5x1,5 forn.

Spareparts_Jøtul_C_21_22_23_31_32_33_P11_150208 15.02.2008 Side 5 av 5


	Ark1

